

FEES INCIDENTAL FEES AND CHARGES SCHEDULE

RTO ID 91823

| NATIONALLY ACCREDITED QUALIFICATIONS FEE FOR SERVICE | | Number of Units | Cost per Unit | Fee For Service Student Fee TOTAL | Administration Fee (Non-Refundable) | Resource Fee (Non-Refundable) | RPL Fee / per Unit |
|--|--|-----------------|---------------|--|-------------------------------------|-------------------------------|--------------------|
| Business | | | | | | | |
| BSB30120 | Certificate III in Business | 13 | \$100.00 | \$1300.00 | \$200.00 | \$150.00 | \$200.00 |
| Age Care / Disability/ Health | | | | | | | |
| CHC33021 | Certificate III in Individual Support (Ageing) | 15 | \$100.00 | \$1500.00 | \$200.00 | \$150.00 | \$200.00 |
| CHC33021 | Certificate III in Individual Support (Disability) | 15 | \$100.00 | \$1500.00 | \$200.00 | \$150.00 | \$200.00 |
| CHC33021 | Certificate III in Individual Support (Community) | 15 | \$100.00 | \$1500.00 | \$200.00 | \$150.00 | \$200.00 |
| CHC43121 | Certificate IV in Disability Support | 10 | \$100.00 | \$1000.00 | \$200.00 | \$150.00 | \$200.00 |
| HLT33115 | Certificate III in Health Services Assistance | 15 | \$100.00 | \$1500.00 | \$200.00 | \$150.00 | \$200.00 |
| Education | | | | | | | |
| CHC30125 | Certificate III in Early Childhood Education and Care | 17 | \$100.00 | \$1700.00 | \$200.00 | \$150.00 | \$200.00 |
| CHC50125 | Diploma of Early Childhood Education and Care | 15 | \$100.00 | \$1500.00 | \$200.00 | \$150.00 | \$200.00 |
| Automotive | | | | | | | |
| AUR21920 | Certificate II in Automotive Tyre Servicing Technology | 14 | \$200 | \$2800.00 | \$200.00 | \$150.00 | \$200.00 |
| AUR30620 | Certificate III in Light Vehicle Mechanical Technology | 36 | \$200 | \$7200.00 | \$200.00 | \$150.00 | \$200.00 |

FEES INCIDENTAL FEES AND CHARGES SCHEDULE

RTO ID 91823

| NATIONALLY ACCREDITED SHORT COURSES FEE FOR SERVICE | | Number of Units | Fee For Service Student Fee TOTAL | Administration Fee (Non-Refundable) | RPL Fee/ per Unit | Group Booking Discount |
|---|--|-----------------|---|--|----------------------|--|
| First Aid and CPR | | | | | | |
| HLTAID012 | Provide First Aid in an education and care setting [Inclusive of HLTAID009] | 2 | \$128.00 | NA | NA | Please Contact Rise Education and Training |
| HLTAID011 | Provide First Aid (Inclusive of HKTAID009) | 2 | \$128.00 | NA | NA | Please Contact Rise Education and Training |
| HLTAID009 | Provide cardiopulmonary resuscitation [Stand-alone unit of competency] | 1 | \$65.00 | NA | NA | Please Contact Rise Education and Training |
| Child Protection and Reporting | | | | | | |
| CHCPRT025 | Identify and report children and young people at risk | 1 | \$140.00 | NA | \$200.00 | Please Contact Rise Education and Training |
| NATIONALLY ACCREDITED SKILL SETS FEE FOR SERVICE | | | | | | |
| CHCSS00070 | Assist Clients with Medication Skill Set | 2 | \$200.00 | \$200.00 | \$200.00 | Please Contact Rise Education and Training |
| CHCSS00129 | Individual Support - Ageing | 5 | \$500.00 | \$200.00 | \$200.00 | Please Contact Rise Education and Training |
| CHCSS00130 | Individual Support - Disability | 4 | \$400.00 | \$200.00 | \$200.00 | Please Contact Rise Education and Training |
| CHCSS00133 | Induction to Disability Support | 5 | \$500.00 | \$200.00 | \$200.00 | Please Contact Rise Education and Training |

FEES INCIDENTAL FEES AND CHARGES SCHEDULE

RTO ID 91823

| NATIONALLY ACCREDITED QUALIFICATIONS CAREER START & CAREER BOOST (General Training) | | Number of Units | Concessional Student Contribution Cost per Unit (eligibility applies) | Student TOTAL Contribution Fee (Concessional) | Non-Concessional Student Contribution Cost per Unit | Student TOTAL Contribution Fee (Non-Concessional) |
|--|---|-----------------|---|---|---|---|
| CHC33021 | Certificate III in Individual Support (Ageing) | 15 | \$3.00 | \$45.00 | \$6.00 | \$90.00 |
| CHC33021 | Certificate III in Individual Support (Disability) | 15 | \$3.00 | \$45.00 | \$6.00 | \$90.00 |
| CHC33021 | Certificate III in Individual Support (Community) | 15 | \$3.00 | \$45.00 | \$6.00 | \$90.00 |
| Education | | | | | | |
| CHC30121 | Certificate III in Early Childhood Education and Care | 17 | \$8.00 | \$136.00 | \$16.00 | \$272.00 |
| CHC50125 | Diploma of Early Childhood Education and Care | 15 | \$8.00 | \$120.00 | \$16.00 | \$240.00 |
| NATIONALLY ACCREDITED QUALIFICATIONS CAREER START & CAREER BOOST (Apprenticeships/Traineeships) | | Number of Units | Concessional Student Contribution Cost per Unit (eligibility applies) | Student TOTAL Contribution Fee (Concessional) | Non-Concessional Student Contribution Cost per Unit | Student TOTAL Contribution Fee (Non-Concessional) |
| CHC33021 | Certificate III in Individual Support (Ageing) | 15 | \$3.00 | \$45.00 | \$6.00 | \$90.00 |
| CHC33021 | Certificate III in Individual Support (Disability) | 15 | \$3.00 | \$45.00 | \$6.00 | \$90.00 |
| CHC33021 | Certificate III in Individual Support (Community) | 15 | \$3.00 | \$45.00 | \$6.00 | \$90.00 |
| Education | | | | | | |
| CHC30121 | Certificate III in Early Childhood Education and Care | 17 | \$8.00 | \$136.00 | \$16.00 | \$272.00 |
| CHC50125 | Diploma of Early Childhood Education and Care | 15 | \$8.00 | \$120.00 | \$16.00 | \$240.00 |
| NATIONALLY ACCREDITED SKILL SETS CAREER START & CAREER BOOST (General Training) | | Number of Units | Concessional Cost per Unit | Student TOTAL Contribution Fee (Concessional) | Non-Concessional Student Contribution Cost per Unit | Student TOTAL Contribution Fee (Non-Concessional) |
| Age Care/Disability/Health | | | | | | |
| CHCSS00070 | Assist Clients with Medication Skill Set | 2 | \$6.00 | \$12.00 | \$3.00 | \$6.00 |
| CHCSS00129 | Individual Support - Ageing | 5 | \$6.00 | \$30.00 | \$3.00 | \$15.00 |
| CHCSS00130 | Individual Support - Disability | 4 | \$6.00 | \$24.00 | \$3.00 | \$12.00 |
| CHCSS00133 | Induction to Disability Support | 5 | \$6.00 | \$30.00 | \$3.00 | \$15.00 |

Fees Incidental Fees and Charges Schedule

01/02/2026

Once printed this is an uncontrolled document

Version 1.0 3

FEES INCIDENTAL FEES AND CHARGES SCHEDULE

RTO ID 91823

INCIDENTAL FEES AND CHARGES

| | |
|---|--|
| Administrative Fee - \$200.00 (Non-Refundable) | RPL/RCC Application Fee - \$200.00 (Non-Refundable) |
| RPL/RCC per Unit of Competency - \$200.00 | Progress Letter Record of Results - \$25.00 |
| Deferment Fee (Up to 3 months) – \$100.00 per Month | Extension Fee (Up to 3 months) – \$100.00 per Month |
| Resource Fee - \$150.00 (Non-Refundable) | National Police Check – Volunteer Cost to Student - \$50.00 - \$70.00 |
| National Police Check – Employment Cost to Student - \$50.00 - \$70.00 | Reissuance of Award Certification - \$50.00 |
| Queensland Working With Children Check (WWCC) Volunteer/Student - FREE | Queensland Working With Children Check (WWCC) Transfer from Volunteer/Student to Paid Employment Cost to Student - \$104.50 (3 Years) |
| NDIS Worker Screening Clearance Volunteer/Student - FREE | NDIS Worker Screening Clearance Transfer from Volunteer/Student to Paid Employment Cost to Student - \$156.00 (5 Years) |

INCIDENTAL FEES AND CHARGES

| | |
|--|---|
| Paid Employment Combined NDIS Worker Screening Clearance and QLD Working With Children Check (WWCC) Cost to Student - \$171.00 (5 Years) | Combined NDIS Worker Screening Clearance (Volunteer) and QLD Working With Children Check (WWCC) Cost to Student - \$15.00 (5 Years) |
| QLD Disability Worker Screening Clearance Volunteer/Student - FREE | QLD Disability Worker Screening Clearance Transfer from Volunteer/Student to Paid Employment Cost to Student - \$107.00 (3 Years) |
| Paid Employment Combined QLD Disability Worker Screening Clearance and QLD Working With Children Check (WWCC) Cost to Student - \$122.00 (3 Years) | Combined QLD Worker Screening Clearance (Volunteer) and QLD Working With Children Check (WWCC) Cost to Student - \$15.00 (3 Years) |
| NDIS Worker Orientation Module Quality Safety and You - Certificate - FREE | NDIS Induction Module – Certificate - FREE |
| NDIS Supporting Effective Communication Module – Certificate - FREE | NDIS Supporting Safe and Enjoyable Meals Module – Certificate – FREE |
| COVID 19 Vaccination – Cost to Student | Influenza Vaccination – Cost to Student |